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Mr. Svarc's Missing $ Problem...REALLY???

Two men were selling Atlantic Salmon Flies: one man sold 3 flies per
dollar and the other man sold 2 flies per dollar.

One day they were both away so they each left 30 flies with a friend. To
simplify the reckoning, the friend decided to sell 5 flies for 2 dollars. They
sold them all and took in 24 dollars.

When it came to dividing up the sales between the owners...a problem
arose. The one who had 30 flies at 3 for a dollar wanted $10. The other
who had 30 flies at 2 for a dollar wanted $15. In total this made $25.

The friend only made $24 which means that they are a dollar short.
WHAT HAPPENED TO THE MISSING DOLLAR???
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Old MacDonald's Last Wishes...

Old MacDonald had 17 cows. He died. His will said...
The first daughter Malia gets 1/2 of the cows.
The second daughter Lainey gets 1/3 of the cows.

The third daughter Janna gets 1/9 of the cows.
The daughters could not figure out how to divide the cows.
Mr. Hallihan wanted to help so he loaned a cow fo them.
Then the first daughter took 1/2 of 18 cows = 9 cows.
The second daughter took 1/3 of 18 or 6 cows.
The third daughter took 1/9 of 18 or 2 cows.

That makes 9 + 6 + 2 = 17 cows. So Mr. Hallihan took his cow back home.

Explain???
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10. Consider the following statement: The square of /‘ 02X
the sum of two positive integers is greater than LG\( r 7 7
the sum of the squares of the same two integers.

Test this statement inductively with three
examples, and then prove it deductively.

C2+302
25 ——
22432
13
|
CE+H1102
361
gE+lle
185
|
(ZZ+1Ed0zE
13875
Z2Z2z+104:

11366




Untitled.notebook November 09, 2017

Quiz...Inductive/Deductive Reasoning

When finished...work on logic problems!
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